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(1) 2(4a+3b)=2x4a+2x3b=8a+6b
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(f31)) (2x+6y)+a:w E72, (2x+6y)+a:(2x+6y)x%

[1] kKOKXOFEFER £ & HTHEIZ LRSIV,

(1) 2x+5y+8x—3y
=-2x+8x+5y-3y
:(—2+8)x+(5—3)y
=6x+2y

[2] koFtFEZ L7e Sy,

(1) 3(x+2y)
=3xx+3x2y
=3x+6y

(3) 2(2x—y)+3(x+4y)
=4x-2y+3x+12y
=7x+10y

[3] koftHEZ Lesu,

(1) (3x+12y)=+3
=x+4y

(3) x+2y+2x—y
3 2
_2(x+2y)+3(2x—y)
- 6
_ 2x+4y+6x-3y
- 6

_8x+y
6

(2) 9x° +3xy—2x" —Txy
=9x” —2x” +3xy —Txy
=(9-2)x> +(3-T)xy
=7x" —4xy

(2) —2(5a—2b)
=(-2)x5a+(-2)x(-2b)
=—10a+4b

(4) 5(3x+2y)—2(5x+4y)
=15x+10y—-10x -8y
=5x+2y

(2) (30x+5y)+(—5)
_30x Sy
-5 =5
=—6x—y

(4) 361-2[)_61-2[)

4 2
_3a—2b—2(a—2b)
B 4
_3a-2b-2a+4b
- 4

_a+2b
4
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